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P Lo0m g RA(2) w11.88 (+2.9) | KJII 5AH(2) w11.88 (+2.9)|/IIFF  4&K(2) wi12.28 (+2.9)|2X FiiEH(2) w12.35 (+2.9) | lLE  #k2H(2) w12.36 (+2.9) |R&/I 52H(2) 12.36 (+1.8)|F# £ 543%(2) wl12.38 (+2.9) & K=(2) wi12.44 (+2.9)
HR-HEALS #R- Tl HR- AR H HR - A LS EipsRr NEL S RS s R - HR - BEp
sent | 4m29m L00m 22 &3103) wll.36 (+2.2)|24H IR(3) wll.42 (+2.2)|BH# B52H3) w1150 (+2.2)|B)Il K E(3) wll.69 (+2.2)|KiF EE(3) wl1l.78 (+2.7) |#5i& K& (3) wi1l.81 (+3.1) '8 E&EQ) wi1l1.83 (+2.2) |BHE BAQ) w11.84 (+2.9)
R - Rl R -BEHH R - Bimh HR - BEHH iR BEBHH R -BEAES HR- A LS HR gt
P . 200m B BHO) w23.84 (+2.4) |88 B (3) w23.96 (+2.4)|fIE HA3) w24.10 (+2.4)|BE ZAG) w24.41 (+2.4) iEBE  E(3) w24.41 (+2.4) |5 K#H(3) w24.42 (+2.4) |FEE FE(3) w24.55 (+2.6) | =3 KH(3) w24.98 (+2.6)
R - Bimh FE-E=aLS HR - EHARH HTR g R iR - BE P R -BEAES #im-mERE () i mERE ()
1A298 100m HEFH ABRQB) 53.84|7 FRE(3) 54.80|iF& REA(3) 56.72|8% F5H(2) 57.49| AR SKER(3) 57.99|#i% LHE(3) 58.31|8E& KK(3) 58.90| k1T =72(3) 59.90]
R - TR[#TH - R TR|FR - EFTEH iR EHARH HR-armE R AFEH R BEHH R Rl
P s00m JITE=-{6)] 2122128 EHO) 2:13.60FUs  FME(3) 2:14.79|FEE  15(3) 2:16.78 1L £ (3) 2:17.05|/\tk @ 8(3) 2:17.72 (%% R#H(3) 2:19.88[BTE #%(3) 2:20.48
R - =P i R=lE HR-BEp R - R@EP R ARFEHR R BEp w-aEf FR-A+EP
TA29H 1500m B BHO) 4:20.26|€F #E(3) 4:20.36|3##R  #£234(3) 4:26.88|M1l FE(3) 4:29.23|=BE H(3) 4:29.85| A #AQ3) 4:32.08| 78 HB{=(2) 4:36.16|RIE  FRME(3) 4:36.55
R A+EP #R-BsES HR-TFilp R - = Bl R-=EE P R - HEIR R R -BHEp
wieon | s000m BEH 15103) 9:23.10 (¥R #£:2H(3) 9:30.25| 78  4=(2) 9:37.72( A #A®B) 9:44.05 M  E0(3) 10:12.79| 82 #=8(2) 10:44.18| 78 K(3) 10:46.29| A& #R31(2) 10:53.65
R A+EP TR[#FTH- Tl TR|FR - EHTR R TR|FR - 28+ TR|F0R - F)IH #FR-HES R - =P R -BHEp
A 16 (3) w1647 (+2.7)|Ef £T(3) w16.50 (+2.7)[KFE  FH(3) w16.53 (+2.7) [FTE8  AF#(3) w16.63 (+2.4) |B)II f£34(3) W16.66 (+2.7)|KF EH(3) w16.83 (+2.7) |l f&K(2) wi16.94 (+2.4)| =R BA(3) wi17.02 (+2.7)
1H29 omit R A+EP R AR R AFH R mERE(R) R ARFEHR R AFEH #R-BRALH R AFH
H& L) wi17.02 (+2.7)
R - BRI
#3B - BEFA 46.39 (#7358 - KFEHA 46.93| #7358 - AL FA 4738|755 - gt eR 48.50 #7358 - F LA 48.76 #38 - HEAH 48.88 (318 - S 48.94 (308 H+H 49.27
dert DEE(3) K EHQ3) Mg K7 (3) K E(3) P A1 (3) BF BH2) I Ba3) =8 BNQ)
4A29H | 4x100mR |23 #:1(3) R iy &£53(3) . ik RA(2) BE BAQ) R4 A3) FME KRB O) EEEEB) Kt 1EFH(3)
#F MEQR) B 22 (3) BK TR Q2) A BwEEQ) B 1G) ik B®-Q) EE REQ) AR FEE(2)
RHAE #HE0) B Z=3(3) B gEQR) RA) E4Q) #i5 EE(3) wE #K(3) KNI HEFEQ2) mE #%(3)
P — R4 AK®3) 175|648 FE(3) 165\ &)l #AKEA®B) 1.60|EHE EBAQB) 1.60|H+E KEE(3) 150|343 &H(3) 145|482 A+(2) 140|#:2 R(2) 1.40
B AT TR[#O8- AT =TR|#8  BEH%(F) ¥B - K ¥R AL #OR-RA LT R A LT HR - AF
#F EBQG) 3.30| #E4£®3) 250|&/R WE(2) 2.00(B8 #EH(2) 1.80
4290 | HEmBk
Him - EETR R TR|#T8 - FHTR R i TR OB EATRPR
P e p— N - SNE)] w5.87 (+4.0)[&  FIFB(3) w5.87 (+4.1) [k AR(3) W5.64 (+3.0) [T B§#E(2) w5.48 (+4.0) [fE4 A k#r(3) w5.42 (+3.6) [ 1ZEX(3) w5.41 (+2.2)[FTF  —#(2) w5.35 (+3.5) |tk Ak (2) w5.24 (+3.6)
Him- Rimp #R-EEH i =P OB R BHETR Wi FEE PR R BEHARHR Hi /gt
P - *% 50) 1047|011 £#(3) 9.78| KAfR  ANHE(2) 9.07[3z)1 BBN3) 857[HME K@) 8.29|#yAE  EH(3) 7.32(@m #EK(2) 7.23|M% B3) 7.13
BN R TR[#08- Tl HB R ¥R BEF ¥R Fl R RA LT R EEF R BB
R EG3) w2159(=F BI=(3) w2100|E&)I1 #BAH(3) w1900
4H291 | DOFEEH
i BEp R RHFERR #im-mERE(R)
41290 | 110mH w 15.45 (+3.0) w 16.00 (+3.0) w 16.52 (+3.0)
4H29H Tt 9.17 10.34 8.38
41290 | sEmHk 1.60 1.65 1.60
4A29H 400m 58.57 1:01.70 1:01.25

BEBE
TR : i#{5 @bk
=TR : @15 il i A

w (wind assist) :




LU 2022/4/29 FHE Jul EF
e 20224FEEBE1IR] BRI T ek LRisk e
BSR4 BrRTkE R Rk AT T =ik
ER(Ebilu=4 Frigibe B e Bt 4 ]
A £+ &R 147 247 3 M 54 6/ ThE 8L
steset | asi20m Loom B EBEQ) wi2.89 (+3.3) |28 HTE() w13.10 (+3.3) |7k #83(2) w13.65 (+3.3) /R Kk (2) wl3.72 (+2.3) | R& =(Q2) w13.80 (+3.3)|/BFH W5 (2) w13.81 (+3.3) |/l H#&E(2) w13.91 (+3.0) |[#EBE BIE(2) w14.00 (+2.3)
R EiAR R - KR R mER HR-FRE—FR R HETR R Fiip e Nakd R - KF HR KR
steset | anizon Loom wE 5723 w13.20 (+2.7)|&H# HTEQ) w13.25 (+2.7) | BF(3) wi13.34 (+2.7) |l HR(3) w13.46 (+2.7) | &)1 Z(3) wl13.48 (+2.7)|£H FEQ) 13.76 (+1.7)|BE  D#E(3) 13.78 (+1.7)|#oT  B7E(3) w13.88 (+3.0)
R R - KR B BEHF HR-HA LS R FRE—F R = R R
st | 4n29m 200m A BEHQ) w26.86 (+3.8)|HF EBE(2) w26.89 (+3.8)|£A HE(2) w27.09 (+3.8) | &3%(3) w28.11 (+3.8)| &)1l EZ(3) 28.45 (+1.7)[/hNE £#E(2) w29.08 (+4.6) |H#T  3(3) w29.11 (+3.8) | BH  163(2) 29.29 (+1.7)
Rt R BT R - KFF R BAR R -HRE—p BERE(h) iR AF
P s00m Al HF3) 2:23.65| kA #(2) 2:35.39|%#E %E(3) 2:39.71|A%H  #IHQ) FK(3) 2:4151| A8 EB(3) 2:45.34; EE(2) 2:46.47| KA B7E(3) 2:46.74
R BEp TR 3158 - BFTR R BB Rt R BEAES R LD TR HR-EA LR FR-FRE P
A2 1500m Al HF3) 4:54.54|% FEQ) 5:15.05|FH# #H3E(3) 5:15.12|#F#  #(3) 5:28.82| &)1l B4 F(2) 5:30.27| KA BEFE(3) 5:34.08|@1E Z2H(3) 5:34.54(fF1L #5(3) 5:37.08
HR-BER TR(#08 - BiF+H #R- MEAES R =ER R - BB AR R FRE—F HiR gt HiR gt
AA29 L00mi B w15.87 (+2.4) [#80  ££(3) w16.41 (+2.4) w16.66 (+2.4)|F/1l  &#E(3) w16.80 (+2.4) |AF #E(3) wl7.42 (+2.4)|FE #%2(3) wl7.46 (+2.4)|®EE $HN(3) wl17.60 (+2.4)| =8 (22(3) wl17.66 (+2.4)
R FoR - g bip Ryl bR NaL #R- AL iR BEF R NFTR
B - 54.44 (%735 =EHA 54.72 54.85 | #755 - NHTRA 55.54|¥55 - BEHH 55.98| #7385 - AFHA 56.00 | #7385 - E 7 56.60 | #7385 - ®HH 56.82
B R TETEER) EH 1223) EH3) ik BEEQ) B z2Y3) Rk HEQ)
4J129A | 4x100mR | p3 BB PG FE #F0Q) 18 (3) B/HE W52 BEA BREO) 2 Z(2)
2Ll 55 #50) b3 JIliEg 5E7E(3) HREA) e EEQ) D B(3) Wk EEQ)
&5 He BE(2) %H wE 57=(3) ¥ (3) RE HERQ) £k ®AQ) HE BEO)
Lol 1.50( i EHK(2) 1.30[iA #H(2) 125188 ®A(Q) 1.20 FF(2) 115
47290 | ERBE
i TR|FR-BES R MR OB - KR 8- BRI
| #TF0) 2.60
47290 | HEmBk
Him - EFTR T
izon | e LA #FQ3) 4.60 (+1.9)|&F #HM1(2) w455 (+2.7)|F  #F(3) w48 (+2.7)|&H HIE®R) 4.26 (+1.6) K@) w424 (+4.0) |FTEE  DAHE(3) wa.19 (+2.1) [BFE 183%(3) 4.15 (+2.0)| K& HHE(2) w4.15 (+2.1)
Hi /g R R RHFERR Him TR B - KR BEFHH R A+ES R BEHS R - KfgH
4H29R B K BHWEE) 12.00|1 5% E1E(2) 9.47|%0 () 9.34|FhH EE(Q3) 837[:EE 1EEIH(2) 8.07[EZ F5(3) 7.90[;AA  =M(2) 7.82|%fE #H4EQ3) 7.72
#Him-amp TR|#T& - BHEH #im-EALTH IR BHER OB - KR Him-BAER #Him-amp R BEHH
# #A®B) 2182|FE)Il 3Z#(3) 1637|#H)11 #12(3) 884
47291 | DOFEHEH
iR AER HR TR RN
44290 | 100mH 17.06 (+1.2) 17.93 (+1.2) 22.46 (+1.2)
4H29H & bk 1.40 1.35 1.20
47290 | Rt 9.18 6.12 6.15
4529H 200m 28.35 (+2.0) 31.19 (+2.0) 35.68 (+2.0)
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